& Manuals+

Home » TOOLPORT » TOOLPORT FGWH-L1-Q1 Universal Base Frame Installation Guide =

Contents [ hide ]

1 TOOLPORT FGWH-L1-Q1 Universal Base Frame
2 Product Specifications

3 What'’s in the box?

4 Parts

5 Assembly Instructions

6 Maintenance

7 Frequently Asked Questions

8 Documents / Resources

8.1 References

PORT

TOOLPORT FGWH-L1-Q1 Universal Base Frame

Product Specifications

e Model: FGWH-L1-Q1


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/toolport
https://manuals.plus/toolport/fgwh-l1-q1-universal-base-frame-manual.pdf

¢ Dimensions: 4m x 6m

What’s in the box?

Parts



710014 1 14
710015 | 1A o//':’/;——\ 7
710002 2 o | = 7
710003 2A L= ° 14
710013 2B o1 o] 21
710040 3 ¢ [ 3 ] P 4
710016 4 o = | 3
710042 aA ° = 3
710043 4B e o] 3
710017 5 L 3 14
710022 6 M6 @ 63
710018 7 M6 x 35 mm 6
710019 8 M6 x 57 mm a3
33415 10 M6 x 55 mm 6
33412 11 M6 2

Assembly Instructions




4 ™
@ ( dT i« I @71004”\ . i @)

|
7 @710017/

N [~

~
— S— @710002 @

Le °] 7100”3 @710022

J

Lo °] .710013

J







Maintenance

Regularly inspect the product for any loose parts and tighten them if necessary. Clean

the product with a mild detergent and water solution when needed.




Scanner

TOOLPORT GmbH

Gutenbergring 1-5

22848 Norderstedt

GERMANY Telefon +49 (0)40/60 87 27 17
Fax +49 (0)40/60 87 27 37

o www.toolport.de

Frequently Asked Questions

e Q: How do I clean the product?
A: Use a mild detergent and water solution to clean the product. Avoid using harsh
chemicals that may damage the material.

e Q: What are the recommended tools for assembly?
A: The manual specifies the use of M6, M6 x 35mm, M6 x 57mm screws along with

other tools that are included in the package.

Documents / Resources


http://www.toolport.de

e TOOLPORT FGWH-L1-Q1 Universal Base Frame [pdf] Installation Guide
rort | 710014, 710015, 710002, 710003, 710013, 710040, 710016, 710042, 71
0043, 710017, 710022, FGWH-L1-Q1 Universal Base Frame, FGWH-L1-

Q1, Universal Base Frame, Base Frame, Frame

TOOLPORT FGWH-L1-Q1 Universal Base Frame [pdf] Installation Guide
710007, 710008, 710002, 710003, 710013, 710040, 710016, 710042, 71

- 0012, 710022, 710018, 710019, 33415, 33412, 710089, 710090, FGWH-
- L1-Q1 Universal Base Frame, FGWH-L1-Q1, Universal Base Frame, Bas

e Frame, Frame

References

e User Manual

m TOOLPORT
@ 710002, 710003, 710013, 710014, 710015, 710016, 710017, 710022, 710040, 710042, 710043, Base Frame, FGWH-L1-Q1,
FGWH-L1-Q1 Universal Base Frame, Frame, TOOLPORT, Universal Base Frame

Leave a comment

Your email address will not be published. Required fields are marked *

Comment *

Name


https://manuals.plus/m/dc9a48c394dda7abeafc3cdabd75ded293619c1810bc610a1ecd78f5aeaa736f
https://manuals.plus/m/dc9a48c394dda7abeafc3cdabd75ded293619c1810bc610a1ecd78f5aeaa736f
https://manuals.plus/m/dc9a48c394dda7abeafc3cdabd75ded293619c1810bc610a1ecd78f5aeaa736f_optim.pdf
https://manuals.plus/m/11f94fd055a79d08fbe66a4b30b1aa61e107e55b069560225bab518efeccd6ef
https://manuals.plus/m/11f94fd055a79d08fbe66a4b30b1aa61e107e55b069560225bab518efeccd6ef
https://manuals.plus/m/11f94fd055a79d08fbe66a4b30b1aa61e107e55b069560225bab518efeccd6ef_optim.pdf
https://manual.tools/?p=17079765#MTQ4LjExMy4yMTAuMjUwOzY2LjI0OS42Ni4xMywgMTcyLjcxLjE5MS4yNSwgMTA0LjEzMS4xNjkuMTE1OzEwNC4xMzEuMTY5LjExNTs2Ni4yNDkuNjYuMTM7
https://manuals.plus/category/toolport
https://manuals.plus/tag/710002
https://manuals.plus/tag/710003
https://manuals.plus/tag/710013
https://manuals.plus/tag/710014
https://manuals.plus/tag/710015
https://manuals.plus/tag/710016
https://manuals.plus/tag/710017
https://manuals.plus/tag/710022
https://manuals.plus/tag/710040
https://manuals.plus/tag/710042
https://manuals.plus/tag/710043
https://manuals.plus/tag/base-frame
https://manuals.plus/tag/fgwh-l1-q1
https://manuals.plus/tag/fgwh-l1-q1-universal-base-frame
https://manuals.plus/tag/frame
https://manuals.plus/tag/toolport
https://manuals.plus/tag/universal-base-frame

Email

Website

[T Save my name, email, and website in this browser for the next time | comment.

Post Comment

Search:

e.g. whirlpool wrf535swhz

Manuals+ | Upload | Deep Search | Privacy Policy | @manuals.plus | YouTube

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos
are registered trademarks owned by Bluetooth SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of

these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/
https://manuals.plus/upload
https://manuals.plus/deep-search
https://manuals.plus/privacy-policy
https://x.com/manualsplus
https://www.youtube.com/@manualsplus

	TOOLPORT FGWH-L1-Q1 Universal Base Frame
	Product Specifications
	What’s in the box?
	Parts
	Assembly Instructions
	Maintenance
	Frequently Asked Questions
	Documents / Resources
	References

	Leave a comment

